e v d

SOC"% Seron —? % Co bj ——:LQ Sl 2 ( T T = E&,b} n LOIS'\?%:\:J;

" beschedinlkd m{—cﬁmcr—‘oW" ot ne (R Trtowell | sewne £ oo T — 'R
Dann  sad 1(“8 ) —Fg 'F be cchrmnkd wAdl Tnhdn‘er-‘:cur\/ oL |3€“2.
Moscgf, 3)/ M‘&q({,j) ,p\k-ecjﬁcraoef‘. " Dy i a/”\

Fells [a(xﬂ R>0 ¥ e C&.bj gé“Fu (x)_@P.F (x))dx =
s st -(:/é mo‘e&ﬂv‘tﬂf‘ g-ﬁ(ﬂéx ~ B ﬁl(x)ix
satz. (. (o, b)) A s(-tiﬂ‘ét-

| deschdnld
U ann st .-F ™ \"Q\jr‘fwbc«r\ ‘__5—_2—_:—_‘-\1—— Seaen f.g : Ca,bd — (I S
e Th hjrru-bur“ ond -F(K) .é(j(x)

Koaventson . ﬁ_(xwx P V <& Lol Donn (fol:ﬂ—

-
a b f@h‘\é"‘ <L Sg(x“-x
(w)dx:= dx. b
§€ x gfm ’ For [g\cm«\ < S\QCﬂ\ix _
Gﬂ&iﬂﬁ\’“'&'h e Cauf-—\‘\\‘ - Schuwras Uf\gg hwn ;; i\,
- a
S-F(K) dx = ﬁ(x)ehc « g‘?(x)ix ( g-(.‘l\(\jfx) <L>< (S_F‘(,‘}.Lg) a (x)ix)
| . ) o m’:quu-}-suFt deor D\‘\'Qc f""(-‘md“'“’t\_j
) V( a, b, c & ‘l_ Se-' _F CCf \D—J s “L SHE Bc_:qn ﬂk'{"

es c. € Cc«t ‘93 mt

f{‘-(x)dx = _F((_)@*q) }/



Dﬁ?ﬂ <o, alb S . E
£: fab] o \R Steryg %,i_;%i‘(@m = 4TD
Dty Zoe hawns)

s+ (i (e be ond = :_{: ?(x} _ S,F(-gdt
Bep. ) Wre” , Fl=¢ agx<b
2) {—(ﬂ' < k/x):gf_' PR (o,b) sH=43 %gmnurb
2
\/\A— ﬂl()() :.@(X)

/2












1) Gaoom) & (1009

2000 £ I0C° = S 000 .

e
E?er) e = F(34) »F‘Bq)

30







0
% s—Xl _
_,\::;?( -

/%






-
(gt = £16) (x=Ye,

L:/‘/’_—/

MUI S -

dh il
i) F0e) = £1)

K Yo

7 \s\' en 7/&‘\\
7/“_;8(}% x mc{ 7‘0

b
xqil x -
oy o 2P
X0 s}\@b", shob'l”z ouch
6%}7’\ Yo .

im T0) (o)
Y - Ao

Y-=2Y¥o
N Ye Vi~
sa-wo.e(z/ §A&X°_HS)
_ i)
A
7A%

Ao






R\
(—71)

Nt
Nt

A +)
X + C

o 4 |

Inl x| +c-

orcSX + C

—(v)= 4nlx|
= f L nx XDO
An(-x) x<o



jbr os j}‘&i‘)’rwq
D @p&\c‘f‘redﬂﬁf‘ dﬁﬂﬁ
Aotethay P70

g_@(,()ﬁ’@) Lx )

a

Eol

/f\,\/\q

_ 5‘:(5)3(5) ~ o)y )
[

B Sgt(x)a(x)d_x -

J

i






0N {'(x)j(X)-*j'(”))C(")
Ac Fond. Sote &»\gfr

b
S{'(Hj/xl +j//X)]C‘(X)lX = Hﬂ)) 'H[q)

= {()4(b) ~ £l)5(e)

b
== ( £(0) ¢'lr) dx

Q

= £ (L) g(b) ~ £R)304)
— SL—F I(x)j(X) dx .

’—_—,:D'\C}'?“’Q’ schredbt men

Kur?,_rdl)rcvp werye.




(6



Clicks—~ g™, 15"

Se F"(x)= sin 2t 4t \ ‘ |
| W= (s

Qo

') = ¢
2 S0 = £0x)

* |

S Glx)= [s0TESE

F(x) = & (x%9)
= c (H()) t{x)-= X+5

6{(1‘) = .Sw\z'X

Fii= G W) 1

~ o 2.
s (XE@) .






